Celsius To Fahrenheit Conversion Table

or oF o ofF oC oF o oF
24 -11.2 1 33.8 26 78.8 51 123.8
-23 -5.4 2 33.6 27 80.6 52 125.6
-22 -7.6 3 37.4 28 22.4 33 127.4
-21 -3.8 < 39.2 25 84.2 e 129.2
-20 - =] 41 30 86 35 131
15 -2.2 5 42.8 31 87.8 56 132.2
18 -0.4 7 44.5 32 89.6 57 134.6
17 1.4 8 45.4 33 S51.4 58 136.4
16 3.2 ) 48.2 S 593.2 35 138.2
13 5 10 30 35 935 60 140
14 6.5 11 31.8 36 96.8 70 1358
13 8.6 12 33.6 37 98.6 80 176
12 10.4 13 33.4 38 100.4 S0 154
-11 12.2 14 37.2 35 102.2 100 212
-10 14 13 39 40 104 110 230
-5 15.8 16 60.5 41 103.8 120 248
-B 17.6 17 62.6 4z 107.6 130 266
o 19.4 18 5.4 43 109.4 140 284
-5 21.2 19 66.2 E] 111.2 1350 30z
-5 23 20 65 43 113 160 320
- 24.8 21 69.5 465 114.8 180 336
-3 26.6 22 71.6 47 116.65 200 332
-2 28.4 23 73.4 48 1158.4 230 482
-1 30.2 73.2 120.2
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KELVIN TO CELSIUS
AND FAHRENHEIT

°K = C+273
«2(F-32)+273
2 F+265.23

CELSIUS TO KELVIN
AND FAHRENHEIT

*C=K-273
= 3(F-32)

FAHRENHEIT TO KELVIN
AND CELSIUS

=2 (K-273)+32
=FK-459.4
=3C+32




